No. of Printed Pages : 4 7 () 1

104 Roll No. : cveennee rriate

2019
APPLIED MATHEMATICS

Frutfe g : fiT ) [T 3 : 70
Time allowed : Three Hours] [Maximum Marks : 70

P (i) FwyeT a8, 974 @ feel ula & s e |
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(ii) N9 F7 F G} 5T ) AR O T E HHord |
Solve all parts of a question consecutively together.
(iii) % F97 H1 79 98 & I FifAd |
Start each question on fresh page.
(iv) 2 aTIa & s g %) e & S e & A8 |

Only English version is valid in case of difference in both the languages.

1. () 1+ i HTd 710 HIT |
Find the modulus of 1 + i.
(ii) sin 750° %1 9H fafEy |
Write the value of sin 750°.
(iii) 7R e T 1 2 vfveat TEwEE B 6 36 W A |

If the two rows of a determinant are identical, then find the value of that
determinant.

(iv) BT YT 3x + 4y + 7 = 0 1 @1 A |
Write the slope of the line 3x + 4y + 7 = 0.
(v) TREEH y2 = 8x I AT 1 TS F1d HIfAC |

Find the length of the latus rectum of the parabola y? = 8x.

i) lim 22 7w frfee |
x—=0 X

. tanx
Write the value of lim

x—=0 ¥

(1of4) P.T.0.
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(vii) €50 1 x ¥ T HFeher HIfT |

Differentiate 8" * w.r.t. x.

(viii) GUSH: Wjuv dx 1 g3 fafem |

Write the formulae of by parts integral f uy dx.

(ix) g srawe GHieh 1 =TT €9 fAfET |

(x)

@

(ii)

(iii)

(iv)

v)

(vi)

Write the general form of linear differential equation.
e Turet <At afeaT fafEy |

Write the definition of scalar product. (1x10)

famg (5, 5) 1 v 1@ 3x -4y + 10 = 0 & =T gt T1d Sy |
Find the perpendicular distance of the point (5, 5) to the line 3x -4y + 10=0.

e f(x) = lixxza‘tf(tan 8) T 9 1A HIITC |

I fiay —1% then find the value of f(tan 8).

f——l— dx 1 7T F7 HIFAT |

sin2 x cos? x

1
sin? x cos®

Find the value of J. e

ﬂ!%tana:%?ﬁ sin 2 o 1 HH 16 HIT |

If tan o =% then find the value of sin 2 o

af afem § + 4 + 3k w4t + 2] + Ak e o A, @ A 1 AW T A |

If vectors 1 + 4? +3kand 41 + 2? + 2k are perpendicular to each other, then find
the value of A. (2x6)
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(i)

@@

(ii)

@

(ii)

(30f4) 70]:
firg F1f9T (Prove that)

cos 10 cos 30 cos 50 cos 70 = '1%

% T & T wefrencor o &e e

x+2y+32=6,2x+4y+z=7,3x+2y+92=14
Solve the following system of equations by Cramer’s rule :

x+2y+32=6,2x+4y+z=7,3x+2y+92=14. (6x2)

L1772

:‘@w[z 1 1}%163@1313%\&1@
a0 1

30081

34 T 1@ 1 e e i i faeg (3, 4) B ol A En 20+ 3y +7=0
% T B |

| e I
Find the inverse of the matrix[ R S | i]

Find the equation of a line passing through the point (3, 4) and perpendicular to
the line 2x + 3y + 7=0. (6x2)

36 6 1 W A A S fag (1, -2) @ (4, -3) W O & q°1 F W
W +4y-T=0R R |

Find the equation of a circle passing through the points (1, -2) and (4, -3) and its
centre lies on the straight line 3x + 4y - 7= 0.

e %o 1 x = 2 T A w1 gherr Hif

. Examine the continuity of following functionatx=2:

x2 s A
ol 2 3
f(x) = ;3 sx< (6x2)
R e 2<%

P.T.O.







